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a A + b B ⇄ c C + d D


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
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[C] [D]
Q

[A] [B]

mol.L-1.

- S1 I2 -3 -1  1,0×10 mol.L  -2 -1  1,0×10 mol.L

- S2 I-

- S3 Fe2+ -2 -1  1,0×10 mol.L

- S4 Fe3+ -2 -1  1,0×10 mol.L
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(mol.L-1)

1,0⨉10-7 2,5⨉10-7 1,0⨉10-6 2,5⨉10-6 1,0⨉10-4 2,5⨉10-4 1,0⨉10-3 2,5⨉10-3 4,0⨉102 4,0⨉103 

I- 

3+Fe  

I2 
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- 3+ 2+
(aq) (aq) a( ( q))2 q a2 I + 2Fe I + 2 Fe .

Qr = 2,5⨉10-2 

Qr = 0,10 
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Qr = 40 

 



 

          2 
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(aq)
I      +      2 3+

(aq)Fe                )2(aqI        +       2 
2+

(aq)Fe  

0 < x < xmax

x = xmax

 

- 3+ 2+
aq ( q( ) q( )aq) 2 a (a )     e               2 I +    2F            I +       2 Fe  

x = 0 
5,0⨉10-5 5,0⨉10-5 5,0⨉10-6 5,0⨉10-5 

2⨉5,0⨉10-5 2⨉5,0⨉10-5 5,0⨉10-6 2⨉5,0⨉10-5 

 
- 3+ 2+

aq (aq) 2 aq (a) q)( ( )    e        2 I +     2F          I +       Fe 2
 

0 < x < xmax 

5,0⨉10-5 – x 5,0⨉10-5 – x 5,0⨉10-6 – x 5,0⨉10-5 – x 
5,0⨉10-5 + x 5,0⨉10-5 + x 5,0⨉10-6 + x 5,0⨉10-5 + x 
5,0⨉10-5 – 2 x 5,0⨉10-5 – 2 x 5,0⨉10-6 + x 5,0⨉10-5 + 2 x 
5,0⨉10-5 + 2 x 5,0⨉10-5 + 2 x 5,0⨉10-6 – x 5,0⨉10-5 – 2 x 



 xmax,
x = xmax.

- 3+ 2+
aq ( q( ) q( )aq) 2 a (a )     e               2 I +    2F            I +       2 Fe

x = xmax 

xf 1,9⨉10-5 mol

xf < xmax

   5 1,9 10fx mol

 𝜏 τ  f

max

x

x

𝜏 =

 

- 3+ 2+
(( ) (aq aq) 2 aq (aq))2 I +         2           Fe                I +        2    Fe

x = xf 

 𝜏 = 0 % 0 % < 𝜏 < 100 % 𝜏 = 100 % 

   

   


